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ENGLISH VERSION

Instructions : (1) Write any four questions out of Eight.

(2) All questions carry equal marks.

17.5

Explain why there is a difference between Residual Income and

1 Find out the missing figures for investment centres.

Return on Investment to the manager of investment centres.

Particulars X Y /
Department | Department |Department

Sales (Rs.) 3,00,000 3,75,000 5,00,000

Operating Profit (Rs.) @) 1,25,000 @)

Return on Investment 15% 10% 20%

Expected Rate of

Return on Investment 10% @) @)

Residual Income (Rs.) @) 25,000 0

Operating Investment

(Rs) 1,50,000 (?) 2,50,000

2 A Production department of Shyam Company has given 17.5

the data as under :

(1) Cost of Sales are as follows :

Product % of Sales
A 5%
B 80%
C 85%

(2) Details of sales and selling and distribution expenses for

the year are as follow :

Particulars Sales (Rs.) Selling and
Distribution
Expenses Allocated
Directly (Rs.)
(A) Prime Zone
A 7,50,000 52,880
B 9,00,000 73,995
C 5,00,000 38,530
BBC-19080002040301 ] 5 [ Contd...




(B) Extension Zone
A 5,75,000 35,350
B 4,60,000 49,800
C 2,50,000 24,740
(C) Outreach Zone
A 1,84,000 15,700
B 1,68,000 14,370
C 3,78,000 70,850

(3) Indirect Expenses are as follow :

Expenses....ccccccoveeeeivinnne. Rs

Office weveeeeeeeeeeeea, 70,600
Advertisement ........... 1,55,000
Other......coovvvevveeennnnn. 1,00,500

(4) Advertisement expense is allocated to zones and product
on the basis of sales. Office expenses and other expenses
are apportioned in the ratio of 2:2:1 to the zones and
the products, while computing the profit or loss for the
zones and the products as the case may be.

Prepare the comparative profit & loss statement for the
cost centre presenting the

(1) Zone wise

(2) Product wise.

3  Following details are available of Asha Co. Limited for 17.5
process III. Considering it, prepare Process account for the
month of October-2020. Use FIFO method.

Opening stock of Process-III ........... 2,000 units at Rs. 25,750
Transfer from Process-II........... 53,000 units at Rs. 4,11,500
Transfer to Process-IV ..o, 48,000 units
Closing Stock of Process-III.........cccoeeeeeiiiiiiiiinnnnnnnnn. 5,000 units
Units Scrapped.....ccooeeeevvvieeeeiiiiiieeeeeeeee e, 2,000 units
Direct material added in Process-III .................... Rs. 1,97,600
Direct Wages ....coeeevvveeeeeeieee e Rs. 97,600
Production Overheads .......ccoovveviineiiniiiiiiiiiieeiieiinnn, Rs. 48,800
Degree of Completion :
Op. Stock Cl. Stock Scrap
Materials 80% 70% 100%
Labour 60% 50% 70%
Overheads 60% 50% 70%

The normal loss in the process was 5% of production and scrap
was sold at Rs. 3 per unit.
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4 Following information is related to Process A. 17.5

(1) Opening stock .....cccceeeeeeerivennnnne. 8,000 units Rs. 75,000

Degree of Completion :

Material ..........eeueeeeeiiiiiii e 100 %

Wages and Overheads ...........cooveeiiiiiieeiiiiiieeeennn. 60%
(2) Input 1,82,000 units at........cc.coevvveeeeennnnnn. Rs. 7,37,500
(B) Wages paid ......ooveeeiiiiiiieeieiieeeeeeeeeeee, Rs. 3,40,000
(4) Overheads paid........ccccoeeeeiiiiieeiiiiieeeeeee, Rs. 1,70,300
(5)  Units Scrapped ....cooeeeeeeeeeeiiiiiiieeeeeeeeeeeeeee e 14,000

Degree Completion :

Material ..........eueeeeeiiiiii e 100%

Wages and Overheads ............ooeeeiiiiiiieeiiiiiieeeennn. 80%
(6) Closing Stock ......cceeeeeeeeiiiiiiiiiiiieeeeeeeeeeeeenn, 18,000 units

Degree of Completion :

Material ........ooeeiieiiiiiieeee e 100%

Wages and Overheads .............oeeeeiiiiiieeiiiiiiieeeennn. 70%

(7)  Units completed and transferred 1,58,000 to next process.
(8) Normal loss is 5% of total input including opening stock.

(9) Scrap value is Rs. 5 per unit to be adjusted out of direct
material cost.

You are required to compute necessary accounts on the
basis of LIFO.

5 (A) Krupa Limited furnishes the following details : 9.5
Particulars........cccoooovviiiieiiiiiieeeeeeee e, per unit
MaAterials .........eueeeeeeiiiii e 6 Rs.
Labour ......ooooiiiiiiiiiiii e 2 Rs.
Variable overhead ..........ccooooiiiiiiiiiiiiii, 4 Rs.
Fixed Factory overhead .................. Rs. 5,10,000 yearly
Yearly Sales ...ccoooovveeiiiiiieeiiiiieeeeeeeeeeeee, 50,000 units
Capital Employed in Fixed Assets ............ 12,00,000 Rs.
Capital Employed in Current Assets ........ 50% of Sales

Determine selling price per unit to yield 20% return on
capital employed.
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(B) Som Company is at present working at 80% 8
production capacity produces and sales 75,000 units.
Selling price is Rs. 20 per unit and Net Profit is Rs.

5 per unit. Additional information is as under

Particulars.......ccooeeevieiiiiiiiiiiiiiii, Per unit
Direct MaterialS......cccoooovviiiiiiiineiiinnnnen. 6 Rs.
Direct Labour ........ccoovvvvviiiiiiiiieiiinnns 3 Rs.
Factory overhead.......... 4 Rs. (70% variable)
Selling overhead............... 2 Rs. (65% Fixed)

Company wants to maintain the production in current
year, but estimates that

(1) Fixed cost is increased by 12%.

(2) Direct labour price is increased by 20%.

(3) Direct material price is increase by 15%.

(4) Sales will not be increased.

Company gets order at additional 12% capacity. What
would be the minimum selling price to get profit of
Rs. 2,85,000 ?

6  Rajhans Company is at present working at 90% of its 17.5
production capacity and producing 27,000 units per annum. It
operates a flexible budgeting control system. The following
figures are obtained from the budget :

Particulars 90% (Rs.) 100% (Rs.)
Sales 30,00,000 32,00,000
Fixed Expenses 6,01,000 6,01,000
Semi Fixed Expenses 1,95,000 2,01,000
Variable Expenses 2,90,000 2,99,000
Units 27,000 30,000

Labour and material costs per unit are constant under the

present condition. Profit margin i1s 10%.

(1)  You are required to determine differential cost production
3,000 units by increasing capacity to 100%.

(2) What would you recommend for an export price for these
3,000 units taking into account that observes prices are
much lower than indigenous prices ?

7 Write short notes : 17.5
(1) Four pillars of Cost Management
(2) Labour and Material Productivity
(3) Objectives of Management audit

8 Write short notes : 17.5
(1) Concept of Productivity and Value Added
(2) Difference between Cost audit and Management audit
(3) Objectives of Cost Management.
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